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(=) ML (B PASH » #£30%)
1. Gel filtration
2. 2-D gel electrophoresis
3. western blotting
4.intron and exon
5. isoelectric point
6. cofactor

(=) HRBEWHER BN RS TRARSRBRB(TERANEEGL? (8%)

() $8E. coli cells 7 E# 4lactose# 3% & ¥ 38 4% - 3 = 44 T 7115 L F lactose operon #) & B & F 7%
EOH U - BV RAFEREE  BRARE - (B ME3IY 0 £129)

(1) Addition of high levels of glucose

(2) A mutation that inactivates 3 -galactosidase

(3) A mutation that inactivates galactoside permease

(4) A mutation that prevents binding of CRP to its binding site near the Jac promoter

(m) Gt @ (B A82% > #14%)

a. Cellulose 1. Retinol; involved in vision

b. VitaminE 2. Modified polysaccharide used as an anticoagulant

c. Heparin 3. Linear homopolysaccharide of D-glucose

d. Vitamin A 4. Contains a bicyclic ring with two carbonyls (aquinone); involved in blood coagulation
e. Glycogen 5. Antioxidant; reacts with free radicals

f.  Vitamin K 6. Found in exoskeleton of insects

g. Chitin 7. Main storage polymer for carbohydrates in animals

(%) An enzyme catalyzes a reaction at a velocity of 20 ¢ mol/min when the concentration of substrate ( S is
0.01 M. TheK,, for this substrate is 1 x 10 M. Assuming that Michaclis-Menten kinetics are followed, what will
the reaction velocity be when the concentration of Sis 1 x 10°Mand 1 x 10°M. (84%)

(X) RIEAR o ZHCGLMRFHITE - (B PA2%  £12%)
(1) All DNA polymerase synthesize DNA in a 5—3 direction.
(2) DNA synthesis requires a 5-hydroxyl group on the primer strand.
(3) Discontinuous DNA synthesis occurs on the leading strand of DNA.
(4) Enzymes reduce the value of AG® for a reaction.
(5) The V. value for an enzyme is independent of substrate and enzyme concentration.
(6) Allosteric enzymes always exhibit sigmodial plots of V versus S.

() #A,B,C,Dand E, % f&peptides * 54 F : (A):Tyr-Lys-Met (B): Gly-Pro-Arg (C): Asp-Trp-Tyr (D):
Asp-His-Glu (E): Leu-Val-Phe. # = & 7| B84 (£ 82% » $£10%)

(1) which peptide is most negatively charged at pH 77

(2) which peptide will yield DNP-tyrosine when reacted with 1-fluoro-2,4-dinitrobenzene and hydrolyzed in
acid?

(3) which peptide contains the largest number of nonpolar R groups?

(4) which peptide contains sulfur?

(5) which peptide will have the greatest light absorbance at 280 nm?
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